1. (10 pts) Compute the double integral

1427y A
/ / x dx dy.
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(Hint: First change the order of integration.)
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2. (10 pts) Find the average distance from the origin of all points inside
the sphere
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3. (10 pts) Let D be the region in the first quadrant’ bounded by y = 72,
y = 32z and y = —=. Use the change of variables z = wv?, y = "‘; to

compute the integral
J[ v aa
D

(Hint: What part of the picture corresponds to u = 0%)
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4. (10 pts, 7 for just setup) Find the total mass within the region described
by 2 < 4 —a? — 9% 2> 4 — 4y, y > 2, if the density of the materlal in
that region is glven by
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